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2. o 28914 AFE ABCD = ¥ 0 9] 93kt olth. AB =15
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AD +BC = AB + CD
=15+8
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O TRolA x of 27

® 4 @ 8 ® 12 @16 ® 20

/BOD = /OAC = /OCA = 30° °|B2=2
/AOC =120° ©]BE2 30:120 =4 :x .. x= 16 ©|T}.
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A
AN

B
D 4, 7, 3V3 @ 4, 7, V29
® 4, V51, 33 @ 4, V48, 9
@4 V52 33
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(1) AM  =52-32 =16 . AM = MB = 4
(2) AM = BM

L AM =6

x? =62 +4% =52

sx= V52

(3)62=x2+32 . x=3v3




th-& 183} 2ol AABC oA - A A
F4 0 oA Al ol Wi £=412] dol7t
nT 2o o /B 9 27| Estoiat.

L
o

Ao FAAA Hof| & =42] Hojr7t Zow I d9] Aol
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AC = ABcos30° = 120 x —60\/_( m)

AC = 4£3Hi}t20° £ 0o]R2ER C 9] o=
ACsin20° = 60 V3x0.3420 = 60 x 1.7321 x0.3420 = 35.54(m)
wr2bA 35.5m ©|tt,
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BH =axh, CH bxh

olu, BH+ CH = 10°| P&

( +b) =10
@ 2 @)+ ® 6 @ 8 ® 10

B

/BAH = 60°, /CAH = 45° o|2.&
BH = tan60°x h, CH = tan45° X h
a=tan60°= V3 0|1 b =tan45° =1
L al+b?=4
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OB = 17cm < 1, 2 949] 4 PT ©] o

BM =15 =AM °|E2&2
PT° =8x (8+ 15+ 15) = 304
PT = 4V19(cm)
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o4 thzH4 BD | ZolE alolat, ‘ /

>
> HE: 2v37cm

DE = 65in60° = 3 V3 (cm)
CE = 6cos60° = 3 (cm)
BE =8+ 3 =11 (cm)
wHEkA] 224249 BED of|A
BD — \/DE® + BE®

= 27+ 121
V148
237

(cm)
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AAGC = %AABC:%X12\/§:4\/§(cm2)




